Selection pp — 88,8 — bbX]  pp — 88,8 — ttX] PP — 88,8 — qax}
mgz = 1500 GeV mg = 1500 GeV mg = 1000 GeV
mgo = 100 GeV mgo = 100 GeV mgo = 800 GeV

Ny > 4 96.49 £ 0.08 99.96 % 0.01 76.87 +0.14

Hy > 500 GeV 96.46 + 0.08 99.89 +0.01 38.30 4 0.16

HIiss > 200 GeV 87.2140.15 88.65 4 0.10 24.46 4 0.14
Nimon = 0 86.59 4+ 0.15 56.00 4 0.15 24.42 40.14
fmuon) =0 86.29+0.15 54.87+0.15 24.36 +0.14
Netectron = 0 85.66 4 0.15 34.46 +0.15 24.1940.14
(cloctron) =0 85.17+0.16 33.50+£0.15 24.00 +0.14
{hadron)  — () 84.20+0.16 31.57+0.14 23.26 +0.14
A s 5, > 0.5 81.96+0.17 30.68 +0.14 23.1040.14
A s 5, > 0.5 73.6240.19 27.394+0.14 20.65 4 0.13
A s 5, > 0.3 67.84 4 0.20 25.58 +0.14 19.10+£0.13
A s 5, > 0.3 62.00 +0.21 23.96 4 0.13 17.66 4 0.12




